[image: image1.jpg]44. The amount of lateral expansion (mils) was deter-
mined for a sample of n =9 pulsed-power gas
metal arc welds used in LNG ship containment
tanks. The resulting sample standard deviation was
s = 2.81 mils. Assuming normality, derive a 95%
CI for o and for o.




[image: image2.jpg]45. The following observations were made on fracture
toughness of a base plate of 18% nickel maraging
steel [“Fracture Testing of Weldments,” ASTM Spe-
cial Publ. No. 381, 1965: 328-356 (in ksi Vin.,
given in increasing order)]:

69.5 © T 726731 88 I35 S Y 5 T

5.8 761 762 .762. 770, .719,.78]1.: 79.6

797 "%99.9:4 180! 1582 9.0 83:F:5:+: 935




Calculate a 99% CI for the standard deviation of the fracture toughness distribution.  Is this interval valid whatever the nature of the distribution? Explain.

